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%HUGDVDUNDQ� KDVLO� DQDOLVLV� \DQJ� GLSHUROHK� SDGD� SHQHOLWLDQ PHQJHQDL� 6HOI�

)LEHU�&RPSDFWLQJ�&RQFUHWH �6)&&��GHQJDQ�EDKDQ�WDPEDK�YDULDVL�]HROLWH ��������

����� GDQ� ���� VHUWD� VXSHUSODVWLFL]HU ����� GDQ� VHUDW� Q\ORQ ��� GDSDW� GLWDULN�

NHVLPSXODQ�VHEDJDL�EHULNXW LQL�

� +DVLO�NXDW� WHNDQ�EHWRQ� VHOI�ILEHU� FRPSDFWLQJ�FRQFUHWH WDQSD�EDKDQ� WDPEDK�

DWDX� EHWRQ� QRUPDO� GLJXQDNDQ� VHEDJDL� DFXDQ�� 3HQJJXQDDQ� ]HROLWH ��� GDQ�

VHUDW�Q\ORQ�PHQJDODPL�SHQLQJNDWDQ�SDGD�XPXU�����������KDUL��GHQJDQ�QLODL�

WHUWLQJJL EHUDGD�SDGD�XPXU�EHWRQ����KDUL�\DLWX������03D�

� +DVLO�SHQJXMLDQ� IUHVK SURSHUWLHV GHQJDQ�PL[ GHVLJQ \DQJ�GLJXQDNDQ�GDODP�

SHQHOLWLDQ� LQL� WHODK� PHPHQXKL� VWDQGDU� \DQJ� GLWHWDSNDQ� ROHK� (XURSHDQ�

)HGHUDWLRQ� RI� 1DWLRQDO� 7UDGH� $VVRFLDWLRQV� 5HSUHVHQWLQJ� 3URGXFHUV� DQG�

$SSOLFDWRUV�RI�6SHFLDOLVW�%XLOGLQJ�3URGXFWV �()1$5&���������

� 3HUDZDWDQ� GDQ� XPXU� VDOLQJ� EHUSHQJDUXK� WHUKD GDS� NXDW� WHNDQ� EHWRQ� VHOI�

EHWRQ��SHUDZDWDQ�\DQJ� LQWHQVLI�GDODP�MDQJND�ZDNWX�\DQJ� ODPD��GLGDSDWNDQ�

QLODL�NXDW�WHNDQ�EHWRQ�\DQJ�VHPDNLQ�PHQLQJNDW��
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� 6HUDW� Q\ORQ \DQJ� GLJXQDNDQ� SDGD� SHQHOLWLDQ� LQL� PHPLOLNL� SDQMDQJ� �� FP��

GLKDUDSNDQ�PHODNXNDQ� SHQJXUDQJDQ� SDQMDQJ� VHUDW� Q\ORQ DJDU� PHQJXUDQJL�

WHUMDGLQ\D�EORFNLQJ�VDDW�SHQJXMLDQ���

� 3HQHOLWLDQ� VHODQMXWQ\D� GLKDUDSNDQ�PHODNXNDQ� SHQDPEDKDQ� SHQJXMLDQ� IUHVK�

SURSHUWLHV XQWXN�PHPSHUROHK�KDVLO�VLIDW�EHWRQ�VHJDU�\DQJ�OHELK�GHWDLO�VHSHUWL�
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� 3HQHOLWLDQ� EHUVNDOD� OHELK� EHVDU� GLODNXNDQ� SDGD� PDWHULDO� \DQJ� VDPD� DJDU�
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